(7 IPATTISON

AGRICULTURE

Swift Current, SK
Maple Creek, SK
Kindersley, SK

(306) 773-9351
(306) 662-2233
{306) 463-2683

Yorkton, SK (306) 783-9469
Balcarres, SK  (306) 334.2492
Moosomin, SK (3086) 436-3301

Kyle, SK (306) 375-2302  Preecevllle, SK (306) 547-2007
Hwy 8 South Leader, SK (306) 628-3889  Russol, MB  (204) 773-2149  JOHN DEERE
Unity, SK (306) 228-2696  Wynyard, SK  (306) 664-2636
Eﬁ;nns:cgossl)( ;%Azgg North Batlleford, SK (306) 445-4468 Kamsack, SK  (306) 642-2814
Fax: 3 5 Humboldt, SK (306) 682-2672  Swan River, MB (204) 7343466
ax: (306) 542-2178 Kelvinglon, K (308) 327-4356
Http:/iwww patlisonag.com Shaunavon, SK (306) 297-2639
GST Number 818708372
Invaice To Account No: 86273 Deliver To: SERV'CE ]NVOICE
ASFELD HARVESTING ASI;ELD HARVESTING Involce Number: 2711390
ROBERT ASFELD RR#1 BOX 65 27/202
RR#1 BOX 55 BEARDSLEY MI 56211 Ipvotes Dats SRslaie!
BEARDSLEY M 56211 Location; 14
Work Order Number: 360755
Payment Type: Account
Bus Phone: (320)265-6290 Bus Phone: (320)265-6290
Prv Phone: (320)815-7152 Prv Phone: (320)815-7152 Page: 10 of 11
Make/Model: Meter Serial Number: EQ Id: Fleet No:
JD S670 2187 1H0S670SPH0795480 795480
Service Reminders:
COMPLAINT:
Replace concave Z plate
CAUSE:
CORRECTION:
Installed new Z bar and tightened hardware.
PartNumber Description Quantity Net Price Extended Price Taxed Ind
AXES59657 LH Concave Support (Z Plate) 1,00 420,96 $420.96 Y
Labor: $400.00 Parts: $420.96 OL&M: $0.00 Misc:  $0.00 Sub-Total:  $820.96
JGEN20- Retail
COMPLAINT:
RH separator rall damaged
CAUSE:
CORRECTION:
Blocked and chained rotor into place
Removed feed accelerator cover.,
Removed bearing deflector,
Removed bearing and front support plate.
Removed separator grates.
Removed hardware.
Removed frame through front of combine.
Installed in reverse order.
PartNumber Descriptlon Quantity Net Price Extended Price Taxed Ind
19M7786 Screw M10x30 Fig 10.9 1.00 1.70 $1.70 Y
19M7789 Screw M12x30 Fig 10.9 1.00 2.07 $2.07 Y
24M7296 Washer M10.5x30 1.00 1.37 $1.37 Y
AXE11010 RH SEPARATOR RAIL 1.00 2,188.80 $2,188.80 Y
H135891 M10 Flange Lock Nut 3.00 1.72 $5.16 Y
H154379 Green Sealant 2.00 26,72 $53.44 Y
M64720 Pop Rivet 188 X .575 10.00 0.76 $7.60 Y



(7 JPATTISON

Swift Current, SK
Maple Creek, SK

(306) 773-9361
(306) 662-2233

Yorkton, SK
Balcarres, SK

(308) 783-9459
(308) 334-2492

Kinderslay, SK (306) 463-2883  Moosomin, SK (306) 435-3301
AGRICULTURE Kyle, SK (308) 376-2302  Prescaville, SK (306) 547-2007
Hwy 8 South Leader, 5K (306) 6283880 Russel, MB  (204) 7732140  JOHN DEERE
y Unlty, SK (306) 228-2696 Wynyard, SK  (306) 554-2636
gﬁ;”nslf.c(kéoss'){ss,&uﬁg North Ballieford, SK (306) 445-4468 Kamsack, SK (306) 642-2814
X 3 542 Humboldt, SK (308) 682-2672 Swan Rlver, MB (204) 734-3468
Fax: (308) 542-2178 Kelvington, SK (306) 327-4355
Hitp:/iwww pattisonag.com Shaunavon, SK (308) 207-2639
GST Number 818708372
Invoice To Account No: 86273 Deliver To: SERV'CE |NVO|CE
ASFELD HARVESTING ASF‘ELD HARVESTING Invoice Number: 2711390
ROBERT ASFELD RRiH1 BOX 65 Invoice D 09/27/202
RR#H BOX 55 BEARDSLEY MI 56211 "”i;ﬁauﬁ:ﬁ orzl 1;
BEARDSLEY M| 56211 Work Order Number: 360755
Payment Type: Account
Bus Phone: (320)265-6290 Bus Phone: (320)265-6290
Prv Phone: (320)815-7152 Prv Phone: (320)815-7152 Page: 9 of 11
Make/Model: Meter Serial Number: EQ Id: Fleet No:
JD S670 2187 1H0S670SPH0795480 795480
Service Reminders:
COMPLAINT:
Chaffer frame extension bent
CAUSE:
CORRECTION:
Removed grain loss sensors.
Removed hardware.
Removed extension frame.
Installed in reverse order.
PartNumber Description Quantity Net Price Extended Price Taxed ind
AXEB7287 Chaffer Tallboard 1.00 783.51 $783.51 Y
Labor: $320.00 Parts: $783.51 OL&M: $0.00 Misc:  $0.00 Sub-Total:  $1,103.51
JGEN18- Retail
COMPLAINT:
Chaffer adjusting motor cover bent
CAUSE:
CORRECTION:
Removed hardware.
Removed cover.
Installed new cover.
Reinstalled hardware,
PartNumber Description Quantity Net Price Extended Price Taxed Ind
03M7183 M8x16 CarrSN 5.00 0.90 $4.50 Y
19M7866 Screw M8x20 Flg 10.9 14.00 1.39 $19.46 Y
57M10233 Tie Band 5.00 0.70 $3.50 Y
H137328 M8x1.25 FlgDTLck 5.00 1.17 $5.85 Y
HXE118591 COVER 1.00 193.61 $193.61 Y
Labor: $80.00 Parts: $226.92 OL&M: $0.00 Misc:  $0.00 Sub-Total:  $306.92

JGEN19- Retail



(7 JPATTISON

AGRICULTU

Swift Current, SK
Maple Creek, SK
Kindersley, SK

RE

(306) 773-9351
(306) 862-2233
{308) 463-2683

Yorkton, 8K (308) 783-9469
Balcarres, SK  (306) 334-2492
Moosomin, SK (306) 435-3301

Kyle, SK (308) 375-2302  Preeceville, SK {308) 647-2007
Hwy 8 South Leader, SK (306) 628-3889 Russel, MB  (204) 7732149  JOHN DEERE
Unily, SK (306) 228-2696  Wynyard, SK  (306) 664-2636
gﬁmls:c(lgosélf 58 402{‘21881?1 North Battleford, SK (306) 446-4468 Kamsack, SK  (308) 642-2814
Fax: 3.06 5 8 Humboldl, SK (306) 682-2672 Swan River, MB (204) 734-3466
ax: (306) 542-217 Kelvington, SK (308) 327-4356
Htp:/iwww.pallisonag.com Shaunavon, SK (306) 297-2639
GST Number 818708372
Invoice To Account No: 86273 Deliver To: SERVICE INVOICE
ASFELD HARVESTING ASFELD HARVESTING Involce Number: 2711390
ROBERT ASFELD RRi#1 BOX 55
RRiH BOX 55 BEARDSLEY MI 56211 '“"‘;‘gﬁaﬁ’izﬁf ngrzwzof;
BEARGLEY. M 66211 Work Order Number: 360755
Payment Type: Account
Bus Phone: (320)265-6290 Bus Phone: (320)265-6290
Prv Phone: (320)815-7152 Prv Phone: (320)815-7152 Page: 8 of 11
Make/Model: Meter Serial Number:; EQ Id: Fleet No:
| JD S670 2187 1H0S670SPH0795480 795480
Service Reminders:
Labor: $400.00 Parts: $405.09 OL&M: $0.00 Misc:  $0.00 Sub-Total:  $805.09
JGEN15- Retall
COMPLAINT:
Front and middle straw chopper floor bent
CAUSE:
CORRECTION:
Removed floors and installed new floors.
PartNumber Description Quantity Net Price Extended Price Taxed Ind
AXE14857 HOUSING 1.00 1,406.39 $1,406.39 Y
HXE18646 Sheet 1.00 978.74 $978.74 Y
Labor: $960.00 Parts: $2,385.13 oL&M: $0.00 Misc:  $0.00 Sub-Total:  $3,345.13
JGEN16- Retail
COMPLAINT:
Replace 5 bent chaffer louvers
CAUSE:
CORRECTION:
Removed chaffer from combine,
Removed adjusting motor from chaffer,
Removed retaining strips from chaffer.
Removed damaged lovers.
Installed in revers order.
PartNumber Description uan Net Price Extended Price Taxed Ind
AH170117 Gen Prps Sieve Louver -1.00 37.26 -$37.26 Y:
AH170119 LOUVER 3.00 43.52 $130.56 Y
AXE42167 LOUVER 2,00 52.19 $104.38 Y
Labor: $320.00 Parts: $197.68 OoL&M: $0.00 Misc:  $0.00 Sub-Total:  $517.68

JGEN17- Retail



Swift Current, SK  (308) 773-9351  Yorkton, SK  (306) 783-9469
Maple Creek, SK (306) 662-2233  Balcarres, SK  (308) 334-2492
Kinderslay, SK (306) 463-2683  Moosomin, SK (306) 435-3301
AGR ICULTURE Kyle, SK (306) 376-2302 Preeceville, SK (306) 547-2007
Hwy 8 South Laader, 8K (306) 628-3889 Russol, MB  (204)773-2149  JOHN DEERE
Unlly, SK (308) 228-2696  Wynyard, SK  (306) 664-2636
gﬁomns:c(lgosé})( 53402’\21;;3 North Ballleford, SK (306) 445-4468 Kamsack, SK  (308) 642-2814
i 5 Humboldt, SK (306) 682-2672  Swan River, MB (204) 734-3466
Fax: (306) 542-2178 Kelvinglon, Sk (308) 327-4365
Hutp:/fvww . patlisonag.com Shaunavon, SK (308) 207-2639
GST Number 818708372
Involce To Account No: 86273 Deliver To: SERVICE INVOICE
ASFELD HARVESTING ASFELD HARVESTING Involce Number: 2711390
ROBERT ASFELD RR#1 BOX 55
RR#1 BOX 56 BEARDSLEY MI 56211 i Udferaoe!
BEARDSLEY MI 56211 Kooglion: 18
Work Order Number: 360755
Payment Type: Accaunt
Bus Phone: (320)265-6290 Bus Phone: (320)265-6290
Prv Phone: (320)815-7152 Prv Phone:  (320)815-7152 Page: 7 of 11
Make/Model: Meter Serial Number: EQ Id: Fleet No:
JD S670 2187 1H0S670SPH0795480 795480
Service Reminders:
JGEN13- Retail
COMPLAINT:
Replace rear rotor transition housing
CAUSE:
CORRECTION:
Removed discharge beater grate.
Removed hardware from transition.
Removed transition from combine.
Removed vane from transition and installed onto new transition.
Installed new transition into combine.
Installed new discharge beater grate.
PartNumber Description Quantity Net Price Extended Price Taxed Ind
AH220706 HOUSING 1.00 2,245.08 $2,245.08 Y
Labor: $2,5660.00 Parts: $2,245.08 oL&M: $0.00 Misc:  $0.00 Sub-Total:  $4,805.08
JGEN14- Retail
COMPLAINT:
Replace 7 spread board vanes
CAUSE:
CORRECTION:
Removed and replaced spread board vanes.
PartNumber Description Quantity Net Price Extended Price Taxed Ind
H236606 Vane 1.00 68.40 $68.40 Y
HXE36439 VANE 1.00 53.71 $63.71 Y
HXE36441 VANE 1,00 53.75 $563,75 Y
HXE36445 Vane 1.00 69.65 $69.65 Y
HXE80252 VANE 1.00 53.71 $53.71 Y
HXE80253 VANE 1.00 51.50 $51.50 Y
HXE80254 Vane 1.00 54,37 $54.37 Y




Swift Current, SK  (306) 773-9361  Yorkton, SK  (306) 783-9460
Maple Creek, SK  (306) 662-2233 Balcarres, SK  (306) 334-2492

AGR ’ CULT U R E Kindersley, SK (308) 463-2683  Moosomin, SK (308) 435-3301

Kyle, 8K (306) 376-2302 Preecaville, SK (306) 6547-2007
Hwy 8 South Leader, SK (306) 628-3889 Russel, MB  (204)773-2149  JOHN DEERE
Unily, SK . (306) 228-2696 Wynyard, SK  (306) 654-2536
gﬁgn::C(lf's.oSBl)(584tll2A2‘:]S13 Norlh Baltleford, SK (306) 446-4468 Kamsack, SK  (306) 642-2814
Fax: 3'06 5422178 Humboldt, 8K (308) 682-2672  Swan Rlver, MB (204) 734-3466
ax: (306) 542- Kelvington, SK  (306) 327-4355
Hulp:/iwww.pattisonag.com Shaunavon, SK (306) 207-2639
GST Number 818708372
Invoice To Account No: 86273 Dellver To: SERV'CE |NVO|CE
ASFELD HARVESTING ASFELD HARVESTING Invoice Number: 2711390
ROBERT ASFELD RRi#1 BOX 55
RR#H BOX 56 BEARDSLEY M 66211 '”V"L‘g‘:a[[’izﬁ 09!27/20%
BEARDILEY Mi 86211 Work Order Number: 360755
Payment Type: Account
Bus Phone: (320)265-6290 Bus Phone: (320)265-6290
Prv Phone: (320)815-7152 Prv Phone: (320)815-7152 Page: 6 of 11
Make/Model: Meter Serlal Number: EQ Id: Fleet No:
JD 8670 2187 1H0S670SPH0795480 795480
Service Reminders: .
Removed return auger housing.
Removed hardware from top covers.
Pulled top covers out through the engine bay.
Installed In reverse order.
Tightened hardware and silicone covers.
PartNumber Description Quantity Net Price Extended Price Taxed Ind
14M7298 FLANGE NUT 1.00 1.15 $1.15 Y
19M7784 Screw M10x20 Fig 10.9 4.00 1.56 $6.24 Y
AH233251 Cover 1.00 2,175.80 $2,175.80 Y
AXE18547 Rotor Cover Middle Transition 1.00 736.27 $736.27 Y
AXE24647 Cover 1.00 2,881.76 $2,881.76 Y
H174439 STS RH Seperator Grate 1.00 222,20 $222.20 Y
H174755 M10x30 10.9 TungstenCarbde Crg Bolt 6.00 2.19 $13.14 Y
HXE17307 Gasket 1.00 78.22 $78.22 Y
R529509 Gasket 1.00 19.49 $19.49 Y
RE258807 7" Tie Band w/Fir Tree 15.00 1.70 $25.50 Y
Labor: $3,520.00 Parts: $6,159.77 OL&M: $0.00 Misc:  $0.00 Sub-Total:  $9,679.77
JGEN12- Retail
COMPLAINT:
Replace damaged chaff pan
CAUSE:
CORRECTION:
Removed LH side shield.
Removed chopper floor and front plates
Removed bolts from chaff pan.
Removed chaff pan from combine.
Installed chaff pan.
Torqued hardware,
Reinstalled front chopper plates and knife bank.
Ran combine and try diagnose rotor vibration.
PartNumber Description Quantity Net Price Extended Price Taxed Ind
AXE58633 Frame 1.00 2,541.87 $2,541.87 Y

Labor: $1,040.00 Parts: $2,641.87 OL&M: $0.00 Misc:  $0.00 Sub-Total:  $3,681.87




(7 JPATTISON

AGRICULTURE

Hwy 8 South

Kamsack, SK SOA 180
Phone; (306) 542-2814
Fax: (306) 542-2178
Http://www paltisonag.com
GST Number 818708372

Swift Current, SK
Maple Creek, SK
Kindersley, SK
Kyle, 8K

Leader, SK
Unlty, SK

North Baltleford, SK

Humbeldt, 5K
Kelvinglon, SK
Shaunavon, SK

(306) 773-9351
(306) 662-2233
(306) 463-2683
(308) 3752302
(306) 628-3889
(306) 228-2696
(308) 445-4468
(308) 682-2672
(308) 327-4366
(308) 207-2639

Yorkton, SK  (306) 783-9469
Balcarres, SK  (308) 334-2492
Moosomin, SK (306) 435-3301
Preecaville, SK (306) 647-2007
Russell, MB  (204) 773-2149
Wynyard, SK  (306) 654-2636
Kamsack, SK  (308) 642-2814
Swan River, MB (204) 734-3466

JOHN DEERE

Involce To Account No: 86273 Deliver To: SERVICE |NVO|CE
ASFELD HARVESTING ASFELD HARVESTING Involce Number: 2711390
ROBERT ASFELD RR#t1 BOX 55 (il 09/27/202
RRi1 BOX 56 BEARDSLEY MI 56211 "“"Lgﬁaﬁ’liﬁ 1;
BEARDSLEY M| £6211 Work Order Number: 360755

Payment Type: Account
Bus Phone: (320)265-6290 Bus Phone: (320)265-6290
Prv Phone: (320)815-7152 Prv Phone:  (320)815-7152 Page: 50f 11

Make/Model: Meter Serial Number: EQ Id: Fleet No:

JD 5670 2187 1HOSB670SPH0795480 795480

Sernvice Reminders:

PartNumber Description Quantity Net Price Extended Price Taxed Ind
03M7375 M10x30 CarrSN10 4,00 1.76 $7.04 Y
14M7296 M10x1.5 FlangeNut 6.00 1.39 $8.34 Y
14M7296 M10x1.5 FlangeNut 2.00 1.60 $3.20 Y
19M7786 Screw M10x30 Fig 10.9 6.00 1.47 $8.82 Y
H165408 Feed Accelerator Strip 2.00 29,09 $58.18 Y
H221379 Feed Acc Support, RH Offset 1.00 141.85 $141.85 Y
HXE111121 Wear Plate 2.00 23.21 $46.42 Y

Labor: $560.00 Parts: $273.85 oL&M: $0.00 Misc:  $0.00 Sub-Total:  $833.85

JGEN10- Retail

COMPLAINT:

Replace 10 riv nuts on rotor

CAUSE:

CORRECTION:

Removed all elements.

Tightened all loose rive nuts.

Labor: $640.00 Parts: $0.00 OL&M: $0.00 Misc:  $0.00 Sub-Total:  $640.00

JGEN11- Retail

COMPLAINT:

Replace top separator covers (2 rear and transition)

CAUSE:
CORRECTION:

Removed engine bay door.

Removed ladder.

Disconnected hose and electrical for cold start aid.
Removed frame support.

Removed turbo to cooler pipe.

Removed debris management pipping.



(ZIPATTISON

AGRICULTURE

Hwy 8 South

Kamsack, SK SO0A 150
Phone: (306) 542-2814
Fax: (306) 542-2178
Http:/iwvew pattisonag.com

Swiit Current, SK
Maple Creek, SK
Kindersloy, SK
Kyle, SK

Leader, SK
Unity, SK

North Battleford, SK

Humboldt, SK
Kelvington, SK
Shaunavon, 8K

(306) 773-9351
(306) 662-2233
(308) 463-2683
(306) 376-2302
(306) 628-3889
(306) 228-2608
{306) 445-4488
(306) 662-2672
(306) 327-4356
(306) 207-2639

Yorkton, SK  (306) 783-9459
Balcarres, SK  (306) 334-2492
Moosomin, SK (306) 435-3301
Preeceville, SK (306) 547-2007
Russell, MB  (204) 773-2149
Wynyard, SK  (306) 664-2536
Kamsack, 8K (306) 642-2814
Swan River, MB (204) 734-3466

JOHN DEERE

GST Number 818708372
Invoice To Account No: 86273 Deliver To: SERV'CE INVOICE
ASFELD HARVESTING QSI;ELE H;&RVESTING Invoice Number: 2711390
ROBERT ASFELD el Hos sy Involce Date 09/27/2021
RR#1 BOX 55 BEARDSLEY MI 56211 Location: 18
BEARDSLEY Mi 56211 Work Order Number: 360755
_ Payment Type: Account
Bus Phone: (320)265-6290 Bus Phone: (320)265-6290
Prv Phone: (320)815-7152 Prv Phone:  (320)815-7152 Page: 4 of 11
Make/Model: Meter Serial Number: EQ Id: Fleet No:
JD S670 2187 1H0S670SPH0795480 795480
Service Reminders:
Installed new retaining pin into knife bank.
Installed new knife bank into combine.
PartNumber Description Quantity Net Price Extended Price Taxed Ind
H215004 Chopper Stationary Blade 39.00 9.21 $359.19 Y
Labor: $400.00 Parts: $359.19 oL&mM: $0.00 Misc:  $0.00 Sub-Total:  $759.19
JGENO08- Retail
COMPLAINT:
Replace stationary knife bank
CAUSE:
CORRECTION:
PartNumber Description Quantity NetPrice Extended Price Taxed Ind
AXEG4806 Stationary Knife Channel 1.00 977.53 $977.53 Y
HXE13899 Bushing 2.00 17.78 $35.56 Y
HXE21107 PIN FASTEN 1.00 114.62 $114.62 Y
Labor: $720.00 Parts: $1,127.71 OL&M: $0.00 Misc:  $0.00 Sub-Total:  $1,847.71

JGENO09- Retail
COMPLAINT:

Replace 2 bent feed accelerator paddles, 2 wear strips and 6 bolts for accelerator

CAUSE:
CORRECTION:

Removed wear strips from the two bent paddles.
Removed two bent paddles.

Cleaned out feed accelerator.

Installed two new paddles.

Found one support strip cracked.

Installed new support strip.

Installed two new wear strips.

Relnstalled removed wear strips.



(7 JPATTISON

AGRICULTURE

Hwy 8 South
Kamsack, SK S0A 150
Phone; (306) 542-2814
Fax: (306) 542-2178

Swifl Current, SK
Maple Creek, SK
Kindersley, SK
Kyle, SK

Leader, SK
Unity, SK

North Batlleford, SK

Humboldt, SK
Kelvington, SK

(306) 773-9351
(306) 662-2233
(306) 463-2663
(308) 376-2302
(306) 628-3889
(306) 228-2696
(308) 445-4468
(306) 682-2672
(306) 327-4355

Yorkton, SK  (306) 783-9459
Balcarres, SK  (308) 334-2492
Moosomin, SK (306) 435-3301
Preaceville, SK (306) 647-2007
Russell, MB  (204) 773-2149
Wynyard, SK  (306) 654-2636
Kamsack, SK  (308) 642-2814
Swan River, MB (204) 734-3466

JOHN DEERE

Htp:/ivww.pattisonag.com Shaunayon, SK (306) 297-2639
GST Number 818708372
Invoice To Accounl No: 86273 Deliver To: SERVICE |NVO|C E
ASFELD HARVESTING ASFELD HARVESTING Involce Number: 2711390
ROBERT ASFELD RRit1 BOX 55 I 09/27/2021
RRi#t1 BOX 55 BEARDSLEY MI 56211 ""‘L'gia'ﬂzfﬁ BT it
BEARDSLEYIA 58211 Work Order Number: 360755
Payment Type: Account
Bus Phone: (320)265-6290 Bus Phone: (320)265-6290
Prv Phone: (320)815-7152 Prv Phone:  (320)815-7152 Page: 3of 11
Make/Model: Meter Serlal Number: EQ Id: Fleet No:
JD S670 2187 1HOS670SPH0795480 795480
Service Reminders:;
CAUSE:
CORRECTION:
PartNumber Description Quantity Net Price Extended Price Taxed Ind
AH208554 TriStream Tines Std Wear 8.00 136.46 $1,091.68 Y
Labor: $1,920.00 Parts: $1,091.68 OL&M: $0.00 Misc:  $0.00 Sub-Total:  $3,011.68
JGENO06- Retail
COMPLAINT:
Replace all chopper knives including paddles
CAUSE:
CORRECTION:
Removed all chopper knives and paddles.
Installed new chopper knives and paddles and torqued to spec.
PartNumber Description Quantity Net Price Extended Price Taxed Ind
14M7298 FLANGE NUT 1.00 1.15 $1.15 Y
AH225940 Scooped Blades 1.00 212.20 $212.20 b
KXE10255 Fine Cut Chopper Blade Kit S-serles 6.00 216.80 $1,300.80 Y
Labor: $1,040.00 Parts: $1,5614.156 oL&m: $0.00 Misc:  $0.00 Sub-Total:  $2,5654.16
JGENO07- Retalil
COMPLAINT:

Replace all stationary knives

CAUSE:
CORRECTION:

Removed knife bank from combine.
Installed new knives into new knife bank,



Kindersley, SK

AGRICULTURE

Swilt Current, SK
Maple Creak, SK

(306) 773-9351
(306) 662-2233
(306) 463-2663

Yorkton, SK  (306) 783-9469
Balcarres, SK  (308) 334-2492
Moosomin, SK (308) 435-3301

Kyle, SK (308) 376-2302  Preeceville, SK (306) 547-2007
Hwy 8 South Leader, SK (306) 628-3889 Russell, MB  (204)773-2149  JOHN DEERE
Unity, SK (306) 228-2696 Wynyard, SK  (308) 654-2536
gﬁgn;:lc(lgosél;g‘(};zgsig North Ballleford, SK (306) 445-4468 Kamsack, SK  (306) 642-2814
P 3IOB 54 Humboldt, SK (306) 682-2672 Swan River, MB (204) 734-3466
ax: (306) 542-2178 Kelvingtan, SK (308) 327-4356
Http:iwww, pattisonag.com Shaunavon, 8K (306) 207-2639
GST Number 818708372
Involce To Account No: 86273 Deliver To: SERVICE INVOICE
ASFELD HARVESTING ASFELD HARVESTING " Involce Number: 2711390
ROBERT ASFELD RRiH1 BOX 65 0
RR#1 BOX 55 BEARDSLEY M| 56211 '"“‘I’_'gzaﬂgf. g 20?;
BEARBBLRY M1 80211 Work Order Number: 360755
Payment Type: Account
Bus Phone: (320)265-6290 Bus Phone: (320)265-6290
Prv Phone:  (320)815-7152 Prv Phone:  (320)815-7152 Page: 2 of 11
Make/Model: Meter Serial Number: EQ Id: Fleet No:
JD S670 2187 1H0S670SPH0795480 795480
Service Reminders:
CAUSE:
CORRECTION:
Removed damaged separator grates.
Installed new separator grates and torqued to spec.
PartNumber Description Quantity Net Price Extended Price Taxed Ind
03M7192 M10x30 CarrSN 4.00 1.17 $4.68 Y
14M7296 M10x1.5 FlangeNut 4.00 1.60 $6.40 ¥
19M7804 Screw M10x40 Flg 10.9 6.00 2,54 $15.24 Y
A-M72598 Quick Link 2.00 1.21 $2.42 Y
H159085 STS Seperator Grate 2.00 103.21 $206.42 Y
H174439 STS RH Seperator Grale 1.00 198.39 $198.39 Y
H201117 STS LH Seperator Grate 1.00 166.03 $166.03 Y
Labor: $400.00 Parts: $6599.58 OL&M: $0.00 Misc:  $0.00 Sub-Total:  $999.58
JGENO04- Retail
COMPLAINT:
Replace all threshing elements
CAUSE:
CORRECTION:
Removed all elements.
Installed all new elements and torqued to spec.
PartNumber Description Quantity Net Price Extended Price Taxed Ind
AH216674 Thr Element Set Front STD 1.00 908.61 $908.61 Y
AH216675 Thr Element Set Mid STD 1.00 594.28 $694.28 Y
AH216678 HI-W THR ELEMENT H2156532 3.00 439,62 $1,318.86 Y
Labor: $960.00 Parts: $2,821.75 oL&M: $0.00 Misc:  $0.00 Sub-Total:  $3,781.75

JGENO5- Retail
COMPLAINT:

Replace all separator tines



(7 JPATTISON

AGRICULTURE

Hwy 8 South

Kamsack, SK S0A 150
Phone: (306) 542-2814
Fax: (306) 542-2178
Http:/iveww . patlisonag.com

Kindersley, SK
Kyle, SK
Leader, SK
Unily, SK

North Ballleford, 5K

Humboldt, SK
Kelvington, SK

Shaunaveon, SK

Swift Current, SK
Maple Creek, SK

(306) 773-9351
(306) 662-2233
(306) 463-2683
(306) 376-2302
(306) 628-3889
(306) 228-2696
(306) 445-4468
(308) 682-2572
(306) 327-4365
(306) 207-2639

Yorkton, SK (306) 783-9459
Balcarres, SK  (306) 334-2492
Moosomin, SK (308) 435-3301
Preaceville, SK (308) 547-2007
Russell, MB  (204) 773-2149
Wynyard, SK  (308) 664-2636
Kamsack, SK  (306) 642-2814
Swan River, MB (204) 734-3466

JOHN DEERE

GST Number 818708372
Invoice To Account No: 86273 Deliver To: S ERV'CE | NVO'CE
ASFELD HARVESTING ASFELD HARVESTING Involce Number: 2711390
ROBERT ASFELD RRI1 BOX 55 ice D 09/27/2021
RR#1 BOX 55 BEARDSLEY MI 56211 Invongeuz;e: 18
BEARDSLEY Ml G6211 Work Order Number: 360755
Payment Type: Accotnt
Bus Phone: (320)265-6290 Bus Phone: (320)265-6290
Prv Phone: (320)815-71562 Prv Phone:  (320)815-7152 Page: 1of11
Make/Model: Meter Serial Number: EQ Id: Fleet No:
JD S670 2187 1H0S670SPH0795480 795480
Service Reminders:
JGENO01- Retail
COMPLAINT:
Ingestion inspection
CAUSE:
CORRECTION:
Miscellaneous Description Quantity Net Price Extended Price Taxed Ind
OTHERMI MISC -1.00 500.00 -$500.00 Y
Insurance Deductible
Labor: $2,880.00 Parts: $0.00 oL&M: $0.00 Misc: -$500.00 Sub-Total:  $2,380.00
JGENO02- Retail
COMPLAINT:
Replace concaves
CAUSE:
CORRECTION:
Jeremy:
Installed and leveled concaves.
PartNumber Description Quantity Net Price Extended Price ed In
19M7786 Screw M10x30 Fig 10.9 1.00 1,70 $1.70 Y
AXE28812 Concave SM Wire Front 1.00 1,214.22 $1,214.22 Y
AXE28958 Concave SM Wire Rear 2.00 1,155.54 $2,311.08 Y
H135891 M10 Flange Lock Nut 12,00 1.72 $20.64 Y
Labor: $880.00 Parts: $3,547.64 oL&M: $0.00 Misc:  $0.00 Sub-Total:  $4,427.64
JGENO03- Retail
COMPLAINT:

Replace 5 separator grates - 1 th 3 middle 1 Ih



(7 IPATTISON

AGRICULTURE

Swilft Current, SK
Maple Creak, SK
Kindersley, SK

(306) 773-9361
(306) 662-2233
(306) 463-2683

Yorkton, 8K (308) 783-9459
Balcarres, SK  (308) 334-2492
Moosomin, 8K (306) 435-3301

Kyle, SK (306) 3762302  Preeceville, SK (308) 647-2007
Hwy 8 South Leader, SK (306) 628-3889 Russell, MB  (204) 7732149 JOHIN DEERE
Unily, 8K (308) 228-2696  Wynyard, SK  (306) 664-2536
ﬁﬁ?ﬁ;"&?’( 55402’_\213813 North Batlleford, SK (308) 446-4468 Kamsack, K (306) 642-2814
Fax: (306) 54 Humboldt, 8K (306) 682-2672  Swan River, MB (204) 7343466
ax: (306) 542-2178 Kelvingtan, SK (306) 327-43655
Http:/iwww pattisonag.com Shaunavon, SK (308) 207-2639
GST Number 818708372
Invoice To Account No: 86273 Deliver To: SERV' C E lNVOICE
ASFELD HARVESTING ASFELD HARVESTING Invoice Number: 2712717
ROBERT ASFELD RR#1 BOX 55
RR#1 BOX 65 BEARDSLEY MI 66211 '"V"Ligsa‘?iﬁ:l? 09*‘28/20?;
BEARDISLEY 1l o621 Work Order Number: 363943
Payment Type: Account
Bus Phone; (320)265-6290 Bus Phone: (320)265-6290
Prv Phone:  (320)815-7152 Prv Phone:  (320)815-7162 Page: 20f2
Make/Model: Meter Serial Number: EQ Id: Fleet No:
JD S670 2187 1H0S670SPH0795480 795480
Service Reminders:
CORRECTION:
Found grease line to be twisted and kinked.,
Removed and replaced.
Installed a 45 degree fitting on the bearing to keep the hose from kinking.
PartNumber Description Quantity Net Price Extended Price Taxed Ind
14M7296 M10x1.5 FlangeNut 1.00 1.76 $1.76 Y
2049-2-2 02MP-02FPS 45 ADAPT 1.00 40.94 $40.94 Y
AH121005 Grease Hose, 47" 1.00 117.20 $117.20 Y
JD7838 -2mNPT_-2fNPT 90 1.00 5.06 $5.06 Y
Miscellaneous Charges:
SERVICE ACCESSORIES $49.28
Labor: $120.00 Parts: $164.96 OL&M: $0.00 Misc:  $49.28 Sub-Total:  $334.24
Labor: $492.80
Customer PO No: Parts: $1,163.37
Tax Exempt No: OL&M: $0.00
Advisor CARLEEN YOST/STAFF Misc: $49.28
GST: $85.27
PST: $0.00
Grand Total: $1,790.72
TERMS AND CONDITIONS

| hereby authorize the above repalr work be done along with the use of necessary malerials. You and your employees may operate above machine for
purposes of testing, Inspection or dellvery. | agree to pay cash for such repair parts and labour on delivery of machine(s) or on terms salisfactory to you,
and until paid in full, any such unpald balance shall constitute a lien on this machinery. | further agree that you will not be held responsible for loss or
damage to said machinery from fire, theft or other causes beyond your control

RECEIVED DY: ..ottt s s

Date: ..ooovviiciiiiiiiene e



(7 JPATTISON

AGRICULTURE

Hwy 8 South

Kamsack, SK S0A 150
Phone: (306) 542-2814
Fax: (306) 542-2178
Hitp:/iwww .pattisonag.com
GST Number 818708372

Kindersley, SK
Kyle, SK
Leader, SK
Unity, §K

North Ballleford, 5K

Humboldt, SK
Kelvington, SK
Shaunaven, SK

Swlft Current, SK
Maple Creek, SK

(306) 773-9351
(306) 662-2233
(308) 463-2683
(306) 376-2302
(306) 628-3889
(306) 228-2696
(308) 445-4468
(306) 682-2672
(306) 327-4366
(306) 297-2639

Yorkton, SK  (306) 783-9469
Balcarres, SK  (306) 334-2492
Moosomin, 8K (306) 4356-3301
Preeceville, SK (306) 647-2007
Russell, MB  (204) 773-2149
Wynyard, SK  (306) 664-2636
Kamsack, SK  (306) 642-2814
Swan River, MB (204) 734-3466

JOHN DEERE

SERVICE INVOICE

Involce To Account No: 86273 Deliver To:
ASFELD HARVESTING ASFELD HARVESTING Invoice Number: 2712717
ROBERT ASFELD RRit1 BOX 55 Dat 09/28/202
RRi BOX 55 BEARDSLEY MI 56211 '"""Ligz o B 1;
SRR B R o Work Order Number: 363943
Payment Type: Account
Bus Phone: (320)265-6290 Bus Phone: (320)265-6290
Prv Phone: (320)815-7152 Prv Phone:  (320)815-7152 Page: 1of2
Make/Model: Meter Serial Number: EQ Id: Fleet No:
JD S670 2187 1H0S670SPH0795480 795480
Service Reminders:
J06180020 JD S670 Retail
COMPLAINT:
REPLACE FRONT UPPER CHOPPER JACKSHAFT DRIVE BELT.
CAUSE:
CORRECTION:
Loosened upper chopper belt.
Removed auger drive belt and brackets.
Removed chopper jack shaft cover.
Removed upper chopper belt.
Installed in reverse order.
PartNumber Description Quantity Net Price Extended Price Taxed Ind
HXE124868 UpperChopperDrv 3V-belt 1.00 613.20 $613.20 Y
Labor: $372.80 Parts: $613.20 oL&M: $0.00 Misc:  $0.00 Sub-Total:  $986.00
JGEN24- Retail
COMPLAINT:

REPLACE ROTOR BEARING - no labor

CAUSE:
CORRECTION:

Removed and replaced rotor bearing while rotor bearing support bracket was out for side rail repair.

PartNumber Description uantit Net Price Extended Price Taxed Ind
AXE42868 SepRotorBearing w/housing 1.00 385.21 $385.21 ¥
Labor: $0.00 Parts: $385.21 oLam: $0.00 Misc:  $0.00 Sub-Total:  $385.21

JGEN25- Retail

COMPLAINT:

INSTALL PRIMARY COUNTERSHAFT GREASE LINE

CAUSE:



Swift Current, SK  (306) 773-9361  Yorkton, SK  (306) 783-9469
Maple Creek, SK (308) 862-2233  Balcarres, SK  (306) 334-2492

Kindersley, SK (306) 463-2683  Moosomin, SK (306) 435-3301
AGRICULTURE Kyle, SK (306) 376-2302  Preeceville, SK (306) 547-2007

Hwy 8 South Leader, SK (306) 626-3889  Russell, B (204)773-2149  JOHN DEERE
Unlly, SK (306) 228-2696  Wynyard, SK  (306) 664-2636
Eﬁomns:"('gu%*)( 55402{‘21;‘;2 North Ballleford, SK (306) 445-4468 Kamsack, SK (306) 642-2814
b Humboldt, SK (306) 682-2672  Swan River, MB (204) 734-3466
ax: (306) 542-2178 Kelvington, 8K (308) 327-4356
Http:/iwww. pattisonag.com Shaunavon, SK (308) 207-2639
GST Number 818708372
Invoice To Account No: 86273 Deliver To: SE RV'C E | NVOIC E
ASFELD HARVESTING ASFELD I";(ARVES“NG Involce Number: 2712717
ROBERT ASFELD RR#1_BOX 55 08
RRI BOX 55 BEARDSLEY M 56211 Mo biate #8021
BEARDSLEY MI 56211 “orlion; 1
Work Order Number:; 363943
Payment Type: Account
Bus Phone: (320)265-6290 Bus Phone: (320)265-6290
Prv Phone: (320)815-7152 Prv Phone:  (320)815-7152 Page: 20f2
Make/Model: Meter Serlal Number: EQ Id: Fleet No:
JD S670 2187 1HOS670SPHO795480 795480

Service Reminders:
CORRECTION:
Found grease line to be twisted and kinked.

Removed and replaced.
Installed a 45 degree fitting on the bearing to keep the hose from kinking.

PartNumber Description Quantity Net Price Extended Price Taxed Ind
14M7296 M10x1.5 FlangeNut 1.00 1.76 $1.76 Y
2049-2-2 02MP-02FPS 45 ADAPT 1.00 40.94 $40.94 Y
AH121005 Grease Hose, 47" 1.00 117.20 $117.20 Y
JD7838 -2mNPT_-2fNPT 90 1.00 5.06 $5.06 Y
Miscellaneous Charges:
SERVICE ACCESSORIES $49.28
Labor: $120.00 Parts: $164.96 oL&M: $0.00 Misc:  $49.28 Sub-Total:  $334.24
Labor: $492.80
Customer PO No: Parts: $1,163.37
Tax Exempt No: OL&NI: $0.00
Advisor: CARLEEN YOST/STAFF Misc: $49.28
GST: $85.27
PST: $0.00

Grand Total: $1,790,72

TERMS AND CONDITIONS

| hereby authorize the above repair work be done along with the use of necessary materials. You and your employees may operate above machine for
purposes of lesting, inspection or delivery. | agree to pay cash for such repalr parts and labour on delivery of machine(s) or on terms satisfactory to you,
and until pald in full, any such unpaid balance shall constitute a lien on this machinery. | furlther agree that you will not be held responsible for loss or
damage to sald machinery from fire, theft or other causes beyond your control

BT LT o R R e O e S OR T ST Date! ..o



(7 JPATTISON

AGRICULTURE

Swift Current, SK
Maple Creek, SK
Kindersley, SK

(308) 773-9351
(308) 662-2233
(306) 463-2683

Yorkton, SK (306) 783-9469
Balcarres, SK  (308) 334-2492
Moosomin, SK (306) 435-3301

Kyle, SK (308) 376-2302  Preeceville, SK (306) 647-2007
Hwy 8 South Loader, SK (306) 6263889 Russel, MB  (204)773-2120  JOHN DEERE
Unily, SK (306) 228-2696  Wynyard, SK  (306) 654-2636
g:?::%ﬁ; 58402{\218313 North Baltleford, SK (308) 446-4468 Kamsack, SK  (306) 642-2814
o Humboldt, SK (306) 682-2672  Swan River, MB (204) 734-3466
Fax: (306) 542-2176 Kelvington, Sk (306) 327-4355
Hutp:/fwww.pattisonag.com Shaunavon, SK (306) 297-2639
GST Number 818708372
Invoice To Account No: 86273 Deliver To: SERV'CE INVO'CE
ASFELD HARVESTING ASI;ELBD HARVESTING Involce Number: 2712717
ROBERT ASFELD RR OX 65 9/28/202
RR#1 BOX 565 BEARDSLEY M| 56211 '"""L'gzalzzf: o 1;
BEARBSLEY ML 55211 Work Order Number: 363943
Payment Type: Account
Bus Phone: (320)265-6290 Bus Phone: (320)265-6290
Prv Phone: (320)815-7152 Prv Phone:  (320)815-7152 Page: 10of2
Make/Model: Meter Serial Number: EQ Id: Fleet No:
JD 8670 2187 1H0S670SPH0795480 795480
Service Reminders:
J06180020 JD S670 Retail
COMPLAINT:
REPLACE FRONT UPPER CHOPPER JACKSHAFT DRIVE BELT.
CAUSE:
CORRECTION:
Loosened upper chopper belt.
Removed auger drive belt and brackets.
Removed chopper jack shaft cover.
Removed upper chopper belt.
Installed in reverse order.
PartNumber Dascription Quantity Net Price Extended Price Taxed Ind
HXE124868 UpperChopperDrv 3V-belt 1.00 613.20 $613.20 ¥
Labor: $372.80 Parts: $613.20 oL&M: $0.00 Misc:  $0.00 Sub-Total:  $986.00
JGEN24- Retail
COMPLAINT:

REPLACE ROTOR BEARING - no labor

CAUSE:

CORRECTION:

Removed and replaced rotor bearing while rotor bearing support bracket was out for side rall repair.

PartNumber Description Quantity Net Price Extended Price Taxed Ind
AXE42868 SepRotarBearing w/housing 1.00 385.21 $385.21 Y
Labor: $0.00 Parts: $385.21 oL&M: $0.00 Misc:  $0.00 Sub-Total:  $385.21

JGEN25- Retail
COMPLAINT:

INSTALL PRIMARY COUNTERSHAFT GREASE LINE

CAUSE:



(7 IPATTISON

AGRICULTURE

Hwy 8 South

Kamsack, SK S0A 180
Phone; (306) 542-2814
Fax: (306) 542-2178
Http:/ivww. pattisonag.com

Swift Current, SK
Maple Creek, SK
Kindersley, SK
Kyle, SK

Leader, SK

Unity, SK

North Baltleford, SK
Humboldt, SK
Kelvington, SK
Shaunavon, 8K

(306) 773-9361
(306) 662-2233
(306) 463-2683
(308) 376-2302
(306) 628-3089
(306) 226-2696
(306) 445-4468
(306) 682-2672
(306) 327-4366
(306) 207-2639

Yorkton, SK  (306) 783-9469
Balcarres, SK  (308) 334-2492
Moosomin, SK (306) 435-3301
Preeceville, SK (306) 647-2007
Russell, MB  (204) 773-2149
Wynyard, SK  (306) 554-2536
Kamsack, SK  (308) 542-2814
Swan River, MB (204) 734-3468

JOHN DEERE

GST Number 818708372
Invoice To Account No: 86273 Deliver To: SERVICE |NVO|CE
ASFELD HARVESTING AS!;ELD HARVESTING Involce Number: 2511529
ROBERT ASFELD RR#1 BOX 55
RR#t1 BOX 56 BEARDSLEY MI 56211 '"""ng‘;a'ﬂz::’, iR 20.19_3
BEARDSLEY Mi 56211 Work Order Number: 331208
Payment Type: Credit Card
Bus Phone: 3202656290 Bus Phone: 3202656290 Authorization Number: MC/TD - 02675J
Prv Phone: 3208157152 Prv Phone; 3208157152 Page: 20f2
Make/Model: Meter Serial Number: EQ Id: Fleet No:
[ JD S670 482 1H0S670SPH0795480 795480
Service Reminders:
Labor: $892.50 Parts: $502.82 OL&M: $0.00 Misc:  $10.00 Sub-Total:  $1,405.32
Credit Card Information Labor: $1,232.50
Customer PO No: Type: Credil Card Parts: $502.82
Tax Exempt No: Auth No: MC/TD - 02675J OL&M: $0.00
Advisor: NICK TIBBEN Amount: $2,014.51 Misc: $183.25
GST: $95.94
PST: $0.00
Grand Total: $2,014.51
TERMS AND CONDITIONS

I hereby authorize the above repalr work be done along with the use of necessary materials. You and your employees may operale above machine for
purposes of tesling, inspection or delivery. | agree to pay cash for such repair parts and labour on delivery of machine(s) or on terms salisfaclory to you,
and until paid in full, any such unpald balance shall conslitute a lien on this machinery. | further agree that you will not be held responsible for loss or
damage to sald machinery from fire, theft or other causes beyond your control

REGCBIVEE DY cuvcvamsmammayusss v e s m s s iy TR

Date; anmmannnanannmag




(7)PATTISON

AGRICULTURE

Hwy 8 South

Kamsack, SK S0A 1S0
Phone: (306) 542-2814
Fax: (306) 542-2178
Http:/iwww,pattisonag.com

Swift Current, SK
Maple Creek, SK
Kindersley, SK
Kyle, SK

Leader, SK
Unlty, SK

North Ballleford, SK

Humbeldt, SK
Kelvington, 8K
Shaunavon, SK

{306) 773-9351
(306) 662-2233
(306) 463-2683
(306) 376-2302
(308) 628-3889
(308) 228-2696
(306) 445-4468
(308) 682-2672
(308) 327-4366
(306) 297-2639

Yorkton, SK  (306) 783-9469
Balcarres, SK  (306) 334-2492
Moosomin, SK (306) 435-3301
Preeceville, 5K (306) 547-2007

Russell, MB  (204) 773-2149
Wynyard, SK  (306) 654-2636
Kamsack, SK  (306) 642-2814

Swan River, MB (204) 734-3466

JOHN DEERE

GST Number 818708372
Invaice To Account No; 86273 Deliver To: SERVIC E INVOIC E
ASFELD HARVESTING Agﬁw (;JXARVESTING Invoice Number: 2511529
ROBERT ASFELD R BOX 55
RR#H1 BOX 55 BEARDSLEY M| 56211 '"""L'gga?li:: 08126"20?2
OEAEECEEC MG Work Order Number: 331208
Payment Type: Credit Card
Bus Phone: 3202656290 Bus Phone: 3202656290 Authorization Number; MC/TD - 02675J
Prv Phone: 3208157152 Prv Phone: 3208157152 Page: 10f2
Make/Model: Meter Serial Number: EQ Id: Fleet No:
JD S670 482 1H0S670SPH0795480 795480
Service Reminders:
JSC JD ALL Retail
COMPLAINT:
SERVICE CALL TO AND FROM MACHINE.
CAUSE:
CORRECTION:
Miscellaneous Description Quantity Net Price Extended Price Taxed Ind
STMILE A SERV TRK CHRG A $100 1.00 50,00 $50.00 Y
Miscellaneous Charges:
SERVICE ACCESSORIES $123.25
Labor: $340.00 Parts: $0.00 oL&M: $0.00 Misc:  $173.26 Sub-Total:  $513.25

JDIAGNOSE1- Retail
COMPLAINT:

Diagnose auto trac - 522451.14 code active

CAUSE:
CORRECTION:

Looked up code 522451.14 and followed the procedure.
Checked the wheel angle sensor connector, and the steering wheel angle sensor.
Then went to the address and turned the steering wheel to check for a change in the numbers there was none.

Ordered steering wheel angle sensor.

Returned to combine, removed steering motor.
Removed steering motor angle sensor and replaced with new. Reinstalled steering motor. Test ran combine to verify repair.

PartNumber Description

19M9326 M4X30 HEXSKT SCREW
AL206976 Sensor

AXEG62147 Posltion Sensor
Miscellaneous Description

FRT FREIGHT

Extended Price Taxed Ind

Quantity Net Price
1.00 1.61
1.00 311.98
1.00 189.23

Quantity Net Price
1.00 10.00

$1.61 Y
$311.08 Y
$189.23 Y

Extended Price Taxed Ind

$10.00 Y



Swift Gureent, SK (306) 773-9361  Yorkton, SK {308} 783-8450
Mapte Craek, Sk (306) 662-2233  Balearres, SK {308} 334-2492
_' Kindarslay, SK (306) 463-2683  Moosomin, SK (308) 435-3301
e AGRICULTURE 0 sq {306) 3762302  Preacevills, SK {308) 547-2007
Hwy 8 South Leader, SK {306)628.3986  Russell, ME  (204) 7732148 JOMN DEERE
: Unity, SK (306) 228.2696  Wynyard, SK  (306) 5542636
; gﬁm]sgcéa%}; ffﬁéﬁﬂ North Bateford, 8K {308) 445-4468 Kamaack, SK  (306) 642-2814
Fax: ; Humboldt, SK (306) 682.2672  Swan Rlver, MB {204) 734-3486
ax: (308) 542-2176 Kelvinglen, 8K (306) 327-4368
Hitp:iwww.paitisonag.com Shaunavon, SK (306) 297-2639
GST Number 818708372
Invoice To Account No: 868273 Beliver To: SERVICE !NVOECE
ASFELD HARVESTING ASFELD HARVESTING Involce Numbes: 2711390
ROBERT ASFELD RR#1 BOX 55 ) 08/27/202
RR#{ BOX 55 BEARDSLEY MI 56211 '“‘“’L'gga?;n‘f 7 2 :,
BEARDSLEY Mi 56211 Work Order Numbaer: 360756
Payment Type: Account
Bus Phone:  (320)265-6290 Bus Phone: (320)265-6280
| Prv Phone:  (3203815-7152 Piv Phone:  {320)815-7152 Page: 11ef 1]
% Make/Mode!: Meter Serial Mumber: EQ Id: Fleet No:
l JD S670 2187 1HOSB70SPHG795480 795480
| Service Reminders:
Labor: $3,200.00 Parts: $2,260.14 OLEM: $0.00 Mise:  $0.00 Sub-Total:  $5,460.14
JBEN21- Retail
COMPLAINT:
1 Additonal parts required - no extra labor
|
| CAUSE:
CORRECTION:
FartNumber Deseription Quantity Net Price Extended Price Taxed Ind
19M7785 M10x26 10.9 Fing Bolt 4.00 1.56 $6.24 Y
19M7813 Screw M12x45 Flg 10.9 4.00 3.48 $13.92 A
AXE10366 Grale 1.09 1,140.43 $1,140.43 Y
H202562 Center Rear Discharge Grale 1.00 185.58 $185.50 Y
HXE28064 Sheet 1.00 362.95 $362.95 Y
Miscellaneous Charges:
SERVICE ACCESSORIES $100,00
Labor: $0.00 Parts: $1,709.13 OL&M: $0.00 Mise:  $100.00 Sub-Total:  $1,809.13
Lahor: $23,200.00
Customer PO No: Parts: $30,670.83
‘Tax Exempt No: OLaw: $0.00
Advisor: CARLEEN YOST/STAFF Wisc: ~$400.00
GST: $2,673.52
PST: $0.00
Grand Total: $56,144.,35
TERMS AND CONDITIONS

I hereby authorize the above repair work be done along with the use of necessary materials, You and your employees may operate above machine for
purposes of testing, inspection or delivery. | agree fo pay cash for such repalr parts and labour on delivery of machine(s) or on terms safisfactory to you,
and until paid In full, any such unpaid balance shall constitute a lien on this machinery. | further agree thal you will not be held responsible for loss or
damage to said machinery from fire, thefl or other causes beyond your control

RECEIVE DY 1ttt bt e e e Date! .o e e






